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(3) MgCl, ;
(4) P o
10mL
NaOH
0.58 ¢ Mg(OH), m
NaCl.Mg( OH) ,.NaAlO, 20 mL
NaAlO,
Al( OH), n Mg ( OH),

Al( OH) , P .

H,0 + NaAlO, + HCl ==AI( OH) , + NaCl
1 1 1
n Al( OH) , 0. Ol mol;
n Mg( OH) , 0.01mol.

0.58 g Mg( OH) ,
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AICI, \MgCl, 0.01 mol AlCI,
1.335 g MgCl, 0.95 g
NaOH
AP’ +  40H =—=AIlO, +2H,0
1 4
0.01mol 0. 04mol
Mg’* + 20H ==Mg( OH) ,
1 2
0.01mol 0.02mol
H* + OH =—H,0
1 1

0.01L x0.5mol/ L 0.01Lx0.5mol/ L
NaOH 0.04 mol +0.02 mol +
0.01 Lx0.5 mol/ L =0.065 mol
0.065 mol x40g/ mol =2.6g.

Al( OH) , +3H"==AI'" +3H,0

1 3
0.0lmol  0.03mol
Mg( OH) , + 2H*=——=Mg">" +2H,0
1 2
0.01mol 0. 02mol
0. 05mol 100 mL
P 100 mL + 30 mL =
130 mL.
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X(mol/ L) 0.12 0.04 0.03 0.09 N
Y(mol/ L) 0.04 0.12 0.09 0.03
pH 1 ;
0.1mol/ L 0.1 mol/ Lo
20 mL Y pH 2 .
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